Die Hiailfte von (bis 10) -

A
Ax K\ o
=1 Halbieren

4. 2 = s 10 —» s 10 —

0 4 - .10 —» 12. 4 =

3.6 — 1410 — 15. 4 =

%6 8 = 1710 — 18. 6 =

9.8 = 0 2 = 2.2 =

2.8 —= 3.8 = 4.6 =

% 4 = 6.6 = 7. 6 =

L e 9.2 = 30 &4 =

3. 2 = 3.6 — 332 =
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Die Hdilfte von (bis 10) | ANTWORTEN
4'4)(\-"0

Halbieren

10 > 5 2 2 > 1 510 - 5

s 2 > 1 s 10 - 95 5 10 —» S5

;02 = 1 s 6 > 3 9, 8 > 4

04 - 2 10 - 5 4 > 2

n6 > 3 410 — 5 5 4 —> 2

v 8 = 4 1210 - 5 5.6 = 3

9.8 = 4 0 2 - 1 27 2 - 1

» 8 —» 4 3.8 > 4 w6 > 3

s b4 2 w6 6 > 3 7 6 > 3

w4 > 2 9 2 = 1 0.4 > 2

3.2 = 1 26 > 3 3.2 » 1
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